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O000000000000.000 ¢(x,y,2),v(x,y,z) 0000000, A(z, vy, 2),
B(z,y,2)0000000000.

(1) V(py) = Ve + oV

(2 V(Ax B)=B-(VxA)— A-(VxB)

(3) Vx(Ax B)=(B-V)A—(A-V)B+ A(V-B) — B(V-A)

4) V(A-B)=(A-V)B+(B-V)A+Ax (Vx B)+ B x (Vx A)
(5) Vx (VxA)=V(V-A) — V24

52 O00O0O0OOOOOO
Oo0oooo poOooooooocoooooo
A:al(w,y,z)el+a2(x,y,z)ez—|—a3(x,y,z)e3

ODO0O0O0O0O0OO dr =dre; +dyes +dzes OO 00,00 COODOODOO
goon

/A~dr:/ ar(z,y, z)dx + as(x,y, 2) dy + as(x,y, z) dz (5.1)
c c
00000 A0 cCcOOoOOooooooo.
(hooooboboooooo.
)
/(ozA+ﬁB)-d'r:a/A-d'r+ﬁ/B-dr.
c c c
(i1)
/ A-d’r:—/A-dr.
e c
Oo0000 —cOO0o0 cooobooooooboooao.

2)0b0b0pbOb0b0ObL0O0O VeOUOOOoob ADOO BOOODOODO
coopooooo

| Ve-dr = 6(B) - 6(4)

O00000000.000 o(A)O00 ADDDOO ¢oODOOOO.
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000000  pODOODO SOOOOODOODOODODOODbOODOD

A =a(z,y,2)e; + as(x,y, 2)es + az(x,y, 2)es
000,00000 ADOOD OOOODOOoOoDbooo.
/SA-dS:/SA~ndS:/Salnl(x,y,z)+a2n2(:c,y,z)+a3n3(x,y,z) ds. (5.2)

ooods,ds000nogno SO0 000000 obuo0,n0000dSO
gboobg b, 00bobboobo.

() 000DO00oo0ooooo.
(1)
/S(aA+5B)-dsza/SA-ds+ﬁ/SB.ds.
(i)
/_SA-dS:—/SA-dS.

OO0 -Sg Sgbooboobobooboooooooon.

Q) r0ooboooboooboo,

/S'r-ndS

g, sSbobooooooooobo.bobooooooobobo sgoog
gobobooga.

() 0000 224¢>+22=1.
() 00 z=+1l,y=+1,=4+,100000000000.
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